ECE 271 Homework #6

1. Let P and R be two 4-bit numbers interpreted to be in 2s complement format.  Show a schematic for a circuit that computes P+R.  (Use a block diagram for the full-adder (FA) instead of individual logic gates.)

2. Repeat problem 1 except compute P-R.

3. Do the following conversions

a) integer 67 to 8-bit 2s complement

b) integer –67 to 8-bit 2s complement

c) integer –67 to 8-bit sign-magnitude

d) 2C903000 (IEEE 754 standard) to a real number

      4.   The number 0.27 is to be represented using integer scaling. 

a) what is the error (in percent) if the scaling is done with n = 6 bits?

b) what is the error (in percent) if the scaling is done with n = 8 bits?

